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v)

(vi)

(vii)

(viii)
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31/1/2

The question paper comprises two Sections, A and B. You are

to attempt both the sections.
All questions are compulsory.
There is no choice in any of the questions.

All questions of Section A and all questions of Section B are to

be attempted separately.

Question numbers 1 to 3 in Section A are one mark questions.

These are to be answered in one word or in one sentence.

Question numbers 4 to 6 in Section A are two marks questions.

These are to be answered in about 30 words each.

Question numbers 7 to 18 in Section A are three marks
questions. These are to be answered in about 50 words

each.

Question numbers 19 to 24 in Section A are five marks

questions. These are to be answered in about 70 words each.

Question numbers 25 to 33 in Section B are multiple choice
questions based on practical skills. Each question is a
one-mark question. You are to select one most appropriate

response out of the four provided to you.

Question numbers 34 to 36 in section B are two-marks

questions based on practical skills. These are to be answered

in brief.
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T -—-A
Section-A

1. = fou o Aifiert & am fafae H

|
(2) CH,—CH,-OH; (b) CH,~C=0

Name the following compounds :
H

|
(a) CH,—CH,—OH; (b) CH,~C=0

2. DNAFIZ?

What is DNA?

3. forelt Sfia Aued < 31 Sia 37aadi hi gt S5 |

List two biotic components of a biosphere.

4. 15 Tohrer ToRtuT ToRell 3T QUUT TR 3TRE H QRMT, TFER 3ATIAH hid & |
T NG I IO IR Ifeeht W EiaRt U0 § TWFad o 99aTd

oRToT AT AT S9I3U | TR W SATIAH hivT T Ueidd shiol o 37fehd

Fifstu |
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A ray of light is incident on a convex mirror as shown. Redraw the
diagram and complete the path of this ray after reflection from the

mirror. Mark angle of incidence and angle of reflection on it.

«

£

PE‘@(F C

5. Tordlt w8 yemwr Y Ieeww Gfea =men fifse e o d@n +

Gfsha T 8 99 &1 Y94 Sailcdash o] | 2

Explain giving example where active involvement of local people

lead to efficient management of forest.

6. Tordl 3@ YR ¥ FIfcid S-9WR Je9d o =R ™l sl g

1Y | 2

List four advantages of properly managed watershed management.

7. UGS (ATaEiehier) T BIAT € ¢ 1 TIAT & el [ohell U= ol

T | T s 27 vEEfass gHienmr & 9gdar 9 SHel

FhifsTe | 3

What is an oxidising agent? What happens when an oxidising
agent is added to propanol? Explain with the help of a chemical

equation.
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8. UTHANH AMfih o1 €7 A AR AR @ 9=+ B €7 ok A
fory Tqor} Rt = AR |

What are covalent compounds? Why are they different from ionic

compounds? List their three characteristic properties.

9. w5 ad ‘M’ g o fa=ma (2, 8, 2) ®, 99 &9 § Hoihi
(NO,)",(SO,)*” @ (PO,)*” & @I AN AT & | 38 THR o A
Aifrehi o g fafaw | a@ ‘M’ Tyl 3Ted aneft o forg ag 3R
AEd | ot 77 M’ weEdst Afie s sty el Ak
FATE ? ST I Sl RO Afed giE AT |

An element ‘M’ with electronic configuration (2, 8, 2) combines
separately with (NO,)",(SO 4)2_ and (PO 4)3_ radicals. Write the
formula of the three compounds so formed. To which group and
period of the Modern Periodic Table does the elements ‘M’

belong? Will ‘M’ form covalent or ionic compounds? Give reason

to justify your answer.

10. Ug T & foheel a1 acdl & T S 3k Solag-fo=mm foafaw | &9
SIF-Ta=ITal o 3TTUehl o= TEar fo@ts ot 8 ¢ €9 dcal § o foredt
T Tcdl oh SATFETES ol G faRan |
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Name any two elements of group one and write their electronic
configurations. What similarity do you observe in their electronic
configurations? Write the formula of oxide of any of the aforesaid

element.

11. AHE T - | 07 o 97 1 © ¢ JI9T 3G T[ET o STeL IOl el §
F1 ferd Bid 87 Ao o 9HY Sl i feEmee d giEdT dF &

foTu hi STERA 2 7 3

What are the functions of testis in the human male reproductive
system? Why are these located outside the abdominal cavity? Who
is responsible for bringing about changes in appearance seen in

boys at the time of puberty?

12. AHa SHEE @ FEta &E, S 99 & @ o vgfg & o
AMEwE B, il HE oA T Oy faltet game | y@w e % qm

fergTa o1 Ieoig hIfST | 3

Suggest three contraceptive methods to control the size of human
population which is essential for the health and prosperity of a

country. State the basic principle involved in each.
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13. wg-Tomued 71 2 7 Sfiai § ¥7 fore Yohr gian & ¢ Har | e i |
fordt wen Sftar =1 9 foTfRaT St 39 TohR o SFH =l SeTiaT © |

What is multiple fission? How does it occur in an organism?
Explain briefly. Name one organism which exhibits this type of

reproduction.

14. “‘@eqor qeqrelt 3teren ATUTE Bd 2 1) Hed 3 39 92 1 ¥ & foru
379 g ot gfdares fore TR foRan ? Haw T 3w AN |

How did Mendel interpret his result to show that traits may be

dominant or recessive? Describe briefly.

15. 3UTRSId A&IUN TR SR & oh S i faIsgehi] Aequni shi g
TfCTRT o €9 H SATET |

List three distinguishing features, in tabular form, between

acquired traits and the inherited traits.

16. TERTST o Weh!U § oI ATcqd © ¢ AR QT AR o THT SAThRTT et
TR T T TTd BT © | $9 IiEeTel shi S0l |fed ST i |

What is meant by scattering of light? The sky appears blue and the
sun appears reddish at sunrise and sunset. Explain these

phenomena with reason.

31/1/2 8



17. = o o 3@ =i, oo 1ader /39 Ul W whig Tehret fohor 3Amdas
AT qMRA TR 7, AT I Yfecent W S | s TRt | 39 foR
T SUUT § YA oh Y9I oh1 9 ST18U |

S T S
7

Draw the following diagram, in which a ray of light is incident on a
concave/convex mirror, on your answer sheet. Show the path of

this ray, after reflection, in each case.

18. fFr=fafaa it gfs o o s ro i

(a) Tordlt oft Sa-mvea | STueeehl / STUATSIeRT shi JUTEATd TR © |

(e aN

(b) TRl TR T@T § Sreli-TaTE TSI BT © |

Give reason to justify the following :
(a) The existence of decomposers is essential in a biosphere.

(b) Flow of energy in a food chain is unidirectional.
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19. (a) TME HIGT SHA 93 o 1= U Ty st =t o6 feafa -

(1) AvSEE

(i) HAIwRE I

(i) ToiE™

(b) =T Sl TLEAT 3 1 o U HIfST |

(a) Write the functions of the following parts in human female

reproductive system :
(1) Ovary
(i1)) Oviduct
(ii1)) Uterus

(b) Describe the structure and function of placenta.

20. S 3g9eH ¥ FA1 dTeqd ® ¢ ST 3g9e o 7T ITGERt 91 iRt sht
Tt TR | S W N O SRS o QUi oh STd 39
T Tk el &1 Hehdl ¢ 37T I 3hT hRT Tfed giw hifse |

What is meant by speciation? List four factors that could lead to
speciation. Which of these cannot be a major factor in the
speciation of a self-pollinating plant species. Give reason to justify

your anSwer.

31/1/2 10



21. (a) U BESERIEHAT SR AT STZGIhTeI oh sl faweT T o folg
IS T qhET forfau |
(b) T % a1 H &9 B W §4 aTel 3cdral o 19 fotfae | 29 At
rffsran =1 TERS gt fafiau o) fomifea 89 aret fafse
YehT hl FHeliadl ohl S911SU |

(c) T = veprer I Iufedfer & B A FAG o | AiEAT H
wfereermo stfufsran =i aen ST ? 5

(a) Give a chemical test to distinguish between saturated and

unsaturated hydrocarbon.

(b) Name the products formed when ethane burns in air. Write the
balanced chemical equation for the reaction showing the types

of energies liberated.

(c) Why is reaction between methane and chlorine in the presence

of sunlight considered a substitution reaction?

22. (a) et otader <@ gRT 3O g W TRt forar o1 wffers s
Rt % for fomor st wife |
(b) IWIH 3@ H forar-, wlafers g ol 3ok 3fwa g (75 e
g uftardl & TgUR eMTCHeh (+) 120ET SRV (—) ) |fed quIisy
3R Ieei@ AISTT ok 39 wohtor ® 2 g s1aad ol ohl iR gl
() @ Tore JepR waifra 2
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(c)

(a)

(b)

(c)

23. (a)

(b)

31/1/2

39 | T Ypid I ewar Jia AT, S T THIETE s °
40 cm 8 W feurd fereht fomesy o1 —1 straeiq a1 wfforst ST 2 |

Draw a ray diagram to show the formation of image by a

concave lens when an object is placed in front of it.

In the above diagram mark the object-distance (#) and the
image-distance (v) with their proper signs (+ve or —ve as per the
new Cartesian sign convention) and state how these distances

are related to the focal length (f) of the concave lens in this case.

Find the nature and power of a lens which forms a real and
inverted image of magnification —1 at a distance of 40 cm from

its optical centre.

et vl o wael | = faw T uet 1 afare fafee

(i) &

(i) oshdl &5

(i) T=T &

(iv) T IR

i fow e 2Tt 3 gEa s g9 % fore R e i
(i) FIdd gUur

(i) 3T g0

12
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(c) = fou U 3@ W fomm Hifste | 30 M #1E gdur ® qen P g
forrar 2, fSreRT gdor gy s strarfeia gfafsrar Q 2 |

YU M o Yo ol 3@ hifsTy, TR Yfdfena Q a1 shig Ueh fafsme
7 feafa | 5

(a) Define the following terms in the context of spherical

Mmirrors :

(1) Pole

(i1)) Centre of curvature
(i11) Principal axis

(iv) Principal focus

(b) Draw ray diagrams to show the principal focus of a

(i) Concave mirror

(i1)) Convex mirror

31/1/2 13 [P.T.O.



(©)

24. (a)

(b)

31/1/2

Consider the following diagram in which M is a mirror and
P is an object and Q is its magnified image formed by the

mirror.

State the type of the mirror M and one characteristic property of
the image Q.

A 93 o A1 U 7u g es 9 o1 i fafau
g, afeaient, freeefi oia, vemmsft ufmrn

TR & foerrasiict 230 o Al Saih hiHaT-374dr 4 difed 8 1 5

TRl bl AFEH gRT YT hi4aT o JIRYoT/JfeedmaT gy 3k

foRaIT STT TohaT 2 | 379k 18T oh Tt JUUeRTdt THTST 4 37T TSid

T 3H) 92T & IR H SI&Ehdl 399 Hd & 32T 9 Teh ITIH

s foRan B | 9fe oad gw Sfed-agw ° 9 9 % foe ke

SITT, 1 3719 39 o il H fohe Jehmr e o ?

(i) 39 TR o SAMIMT bl ST A 1 3233 TAfau |

(i) T o 9T A9 A1 ol T A o fT¢ IRG d G0 119
TN T ST Toh ol ¢ UH QT IRl ohl et SMTST |

(iii) 3 & gt it g S8, S 39 AfwA § fokfd & 9 2,
ST 38 Weh o AT H T TRt Afsha INEH od © |

14



(a) Write the function of each of the following parts of human eye :

cornea; iris; crystalline lens; ciliary muscles

(b) Millions of people of the developing countries of world are
suffering from corneal blindness. These persons can be cured
by replacing the defective cornea with the cornea of a donated
eye. A charitable society of your city has organised a campaign
in your neighbourhood in order to create awareness about this
fact. If you are asked to participate in this mission how would

you contribute in this noble cause?
(1)  State the objective of organising such campaigns.

(i1) List two arguments which you would give to motivate the

people to donate their eyes after death.

(i11) List two values which are developed in the persons who

actively participate and contribute in such programme.

HT-d
Section-B
25. TAfafad o @ &k gusa o7 1 ag= © 7 1

(a) Heh, uaft 3T fushelt & 3w

(b) FFeT o Tk JR TTHAITAAT o Feh
(c) =TEE & 9@ R fadeft & va

(d) vl % T 3R IHEE & UG

31/1/2 15 [P.T.O.



Which of the following is a correct set of homologous
organs?

(a) Forelimbs of frog, bird and lizard

(b) Spine of cactus and thorn of bougainvillea
(c) Wings of bat and wings of butterfly

(d) Wings of a bird and wings of a bat

26. foreht B 1 TRt fssieratt <fis o g1 o fafsr ol <t geem s’
TRINT 31 ST & | st o < T T agl ® @ 3w TE g :

(a) W, =T, T

(b) USHT, Hhl, <1

(c) TFHI, IS, TSI

(d) USHI, HX, <1

A student has to perform the experiment “To identify the different
parts of an embryo of a dicot seed.” Select from the following an

appropriate group of seeds :

(a) pea, gram, wheat

(b) red kidney bean, maize, gram
(c) maize, wheat, red kidney bean

(d) red kidney bean, pea, gram

31/1/2 16



27. = fou U e w1 remeE HifSe faw fordt a1 3 Strds i (L)),
JAYSAT I (Lr), TG BI07 (Le), =0 =001 (LA) qen faaeq i
(£D) 3iferd fopu 2 | St Tt 3fohd whioT 2 - 1

(a) LAdZi

(b) ZA,Zid Zr

(c) LA, Zi, Ze 9 4D

(d) ZA, Zi, Zr 9 ZD

Study the following figure in which a student has marked the angle

of incidence (Zi), angle of refraction (£r), angle of emergence

(ZLe), angle of prism (£LA) and the angle of deviation (£D). The
correctly marked angles are :

(a) LA and Zi
(b) ZA, Ziand Zr
(c) ZLA, Zi, Ze and ZD

(d) LA, Zi, Zr and £D

31/1/2 17 [P.T.O.



28. ToREt STHATRR A o Wid ¥ oA aTel JehreT ToroT o1 99 STRRET
FH o foru, i & weft S = e e gaE © 7

Vo NN

T T t T

P Q R S

(a) P

(b) Q
(c) R
(d) S

Select from the following the best experimental set-up for tracing

the path of a ray of light passing through a rectangular glass slab :

L NN

P
(a) P

(b) Q
(c) R
(d) S

31/1/2 18



29. Torelt B 9 JERTRIET i HS % QY TRAR W @ wive Sl sara
T AIddd U AT o1 o1& Yidafersr foret o8 W, 3Et S99 o
# wipd g I FA & faw, g foman | S meiem 3 3@ s@
T HIohd g 1 IR AT TEl 7 I i o TI SRRt & T
1 km @ o fRet waa 1 ®hid o1 gema foam | 3 9
T 3 TEY YA Dl BIRGA B b [T W AT AT TAETANA

AT BT : 1
(a) TUUI R UG H K

(b) TG I YT H K

(c) U ol gUUT St AR

(d) U< ol 9ad i AR

A student obtained a sharp image of a candle flame placed at the
distant end of the laboratory table on a screen using a concave
mirror to determine its focal length. The teacher suggested him to
focus a distant building about 1 km far from the laboratory, for
getting more correct value of the focal length. In order to focus the
distant building on the same screen the student should slightly

move the :

(a) mirror away from the screen
(b) screen away from the mirror
(c) screen towards the mirror

(d) screen towards the building

31/1/2 19 [P.T.O.



30. f3u U 39 ¥ A Alerehe Biohd g, Torsll g Tod (S, RIS 915

31.

SE) I BIhHd Fleh, FTd F o foT 319 30 foat 1 Ufeafensr ud w
T L o1 T L @ | 98 T ST ffersl 9ed & gt g -

(a) ®enm R urvd gitafda

(b) e IR Bran

(c) 32 IR BI

(d) TTEY, 35T 3R B

To determine the approximate focal length of the given convex lens

by focussing a distant object (say, a sign board), you try to focus
the image of the object on a screen. The image you obtain on the

screen is always :

(a) erect and laterally inverted
(b) erect and diminished
(c¢) inverted and diminished

(d) virtual, inverted and diminished

F1E BE 25 mL ¥1iEar it IR wWEAe™Et P, Q, R 3R S dat T3
T § 10 mL ST ST ¥Rl © | 98 39 W™l § 9r e d@gon
%1 Ueh-Teh I 39 JahR fiarar & — P # KCI; Q # NaCl; R d CaCl,

AT S H MgCl, | TeavaTd, 98 Ycdeh Tl H 91 o Toera oh T
T 2 mL ST © | T W@ o qaTei i Well-wiid fee W

34 TS @Al § T 917 e ot grmadT 7, 3 wEHtodi & -

(a) P3RQ (b) R3S
(c) P,Q3R R (d) P,Q3W S

31/1/2 20



A student takes four test tubes marked P, Q, R and S of 25 mL
capacity and fill 10 mL of distilled water in each. He dissolves one
spoon full of four different salts in each as — KCI in P, NaCl in Q,
CaCl; in R and MgCl, in S. He then adds about 2 mL of a sample
of soap solution to each of the above test tubes. On shaking the
contents of each of the test tubes, he is likely to observe a good

amount of lather (foam) in the test tubes marked :

(@) Pand Q (b) RandS
(c) P,QandR (d) P,QandS
32. i fou U werel & fRE Ouee @1 WM WEH AW % forw
ATTeRToT- TSR ohl Rt ok ToTq foRar ST dehe @ 7
(a) Ca(OH), ¥R =1 a0
(b) NaOH 2 9 &1 dct
(c) NaOH 3R @f< da
(d) Ca(OH), R @S ae
Which of the following sets of materials can be used for conducting
a saponification reaction for the preparation of soap?
(a) Ca(OH), and neem oil
(b) NaOH and neem oil
(c) NaOH and mineral oil
(d) Ca(OH), and mineral oil
31/1/2 21
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33. wrHTRT iR o fow ® i €t 18 fewforn W foem ifste -

I =9 Afufsramst d o 3coe et @

I 9 & 3y s@eue & fau sifufsn fasor 4 wifesm wiss
foremn ST

I Grfrertor stfirfsran weh o yerm 3t Sarefiientor stfifsran 2
IV G Tl @ o JH 3Tl oh1 &R Tav §

T4 T fewaforr | -

(2) LIS

(b) IL LTIV
(¢c) LUIIV
(d) FIALIMRIV

Consider the following comments about saponification reactions :
I Heat is evolved in these reactions

IT  For quick precipitation of soap sodium chloride is added to the

reaction mixture

IIT Saponification reactions are special kind of neutralisation

reactions
IV Soaps are basic salts of long chain fatty acids

The correct comments are :
(@) I, IIand III

(b) II, III and IV

(c) LLITand IV

(d) OnlyIandIV

31/1/2 22



34, =iz B TRt el s&icd gy T o dfdfors &1 39a o W
foret Ug WX Bk T 2 | deavend e -t forrer ot o it ST

ST 8, 3 B R 98 9 hl THEIS Shich {oea & Afdfens sl I¢ |
Ik i T © | 2

() a8 <9 ol form oo o wermTafa star 8- ue il A A9eT U o
=L

(ii) wfcforst = TTEst 1 R 1T B T TN & AU Tl © 7

(iii) ST o8 foral o1 <@ o STcaferes fepe o SITAT 8, e Ue W Widfereat o
FTRIAI R ?

A student focuses the image of a well illuminated distant object on

a screen using a convex lens. After that he gradually moves the
object towards the lens and each time focuses its image on the

screen by adjusting the lens.

(1) In which direction-towards the screen or away from the screen,

does he move the lens?

(i) What happens to the size of the image-does it decrease or

increase?

(i11)) What happens to the image on the screen when he moves the

object very close to the lens?

35. 39 GHI 3T A1 Y& Hd § S A THIH A H F© I8 39
e H e & foad s R 2
() TraTeafem
(ii) ST SiA
(iii) HEE goh
(iv) HifeTd TESISH e ol

31/1/2 23 [P.T.O.




What do you observe when you drop a few drops of acetic acid to a

test tube containing :
(1) phenolphthalein
(i1) distilled water
(i11) universal indicator

(iv) sodium hydrogen carbonate powder

36. e o fe@ued & 39 fawiy =wor o1 qmiferd s dwifhw e 3gemt
ek dHIhd B ST @ SR IHeh! ShITTeRT fofoct! H HehivA =R
Fare |

Draw a labelled diagram to show that particular stage of binary

fission in amoeba in which its nucleus elongates and divide into

two and a constriction appears in its cell membrane.

31/1/2 24
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